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Day 1 Opening o@g 5 minutes

Directions: Complete the Opening in the space provided showing all work. Please limit your time spent to 5 minutes.

Q: This graph shows the relationship between the pounds of cheese bought at a deli and the total cost, in dollars,

for the cheese.
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Select each statement about the graph that is true.

Select all that apply.

A | The point (0, 0) shows the cost is $0. 00 for 0 pounds of cheese.

B | The point (0. 25, 1) shows the cost is $0. 25 for 1 pound of cheese.
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C | The point (0.5,2) shows that 0.5 pound of cheese costs $2. 00.

D | The point {1,4) shows the costis $4.00 for 1 pound of cheese.
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E | The point (2, 8) shows that 8 pounds of cheese cost $2. 00.



